
Exploded Views and Parts List

1. UE43AU6905KXXC PA01
UE43AU6905KXXC PA01

Exploded View

Copyright© 1995-2022 SAMSUNG. All rights reserved. 1



Exploded Views and Parts List

Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

1 1 JDM_PANEL BN81-23619A SVC JDM PANEL;
LVB430UBF0BSS42H0X,TPT430W

SA 1

2 1 TERMINAL BN81-23056A SVC JDM-COVER IO;
P34T3777XRJ03TC100,PC+A

SA 1

3 1 JDM_MAIN BN81-23038A SVC JDM-MAIN;
317GAAMBJ17HAS0030,2in1,018

SA 1

4 1 WLAN BN81-22171A SVC JDM-WIFI; 368GWFBT746XUG,5V,
BN59-013

SA 1

5 1 FUNCTION BN81-22169A SVC JDM-FUNCTION; 317GAIRM592SEJ,IR
Modul

SA 1

6 1 SPEAKER BN81-22172A SVC JDM-SPEAKER;
378G0110567GEM,11W 132x3

SA 2

7 1 JDM_P-C/REAR BN81-23045A SVC JDM-COVER P-REAR;
705TXKCS034366,PC+A

SA 1

8 1 S/TOP-R BN81-23048A SVC JDM-STAND TOP(R);
P34T3776XUN01XC2BY,

SA 1

9 1 S/TOP-L BN81-23047A SVC JDM-STAND TOP(L);
P34T3775XUN01XC2BY,

SA 1

2 Copyright© 1995-2022 SAMSUNG. All rights reserved.



Exploded Views and Parts List

2. Electrical Parts List
Electrical Parts List

[]

Level Loc. Part Code Description & Specification Qty. SA/SNA

UE43AU6905KXXC (PA01)

1 C/SLOT 3709-001791 CONNECTOR-CARD SLOT;64P,0.5mm,SMD-A,AU,P 1 SA

1 JDM_SCREW BN81-22156A SVC JDM-SCREW;0M1G1730 8120,M3*8 nickela 8 SA

1 JDM_SCREW BN81-22161A SVC JDM-SCREW;0M1G1030 6 47 CR3,M3*6zinc 12 SA

1 FUNCTION BN81-22169A SVC JDM-FUNCTION;317GAIRM592SEJ,IR Modul 1 SA

1 WLAN BN81-22171A SVC JDM-WIFI;368GWFBT746XUG,5V, BN59-013 1 SA

1 SPEAKER BN81-22172A SVC JDM-SPEAKER;378G0110567GEM,11W 132x3 2 SA

1 JDM_SCREW BN81-22179A SVC JDM-SCREW;Q01G623800100A00H1,Q8*12,B 4 SA

1 FFC BN81-22180A SVC JDM-FFC;395G279A0512960000,51P 0.5 2 1 SA

1 BN81-22187A SVC JDM-WIFI-BT WIRE;395GW12510GT034000, 1 SA

1 JDM_SCREW BN81-22194A SVC JDM-SCREW;0M1G1740 8120,Bolt M4*8,zi 4 SA

1 JDM_MAIN BN81-23038A SVC JDM-MAIN;317GAAMBJ17HAS0030,2in1,018 1 SA

.2 BN81-23382A SVC JDM-HDMI JACK;YUQIU,HD115-F19G1BR-H, 3 SNA

.2 BN81-23383A SVC JDM-USB JACK;VAST,103472012,USB conn 1 SNA

.2 BN81-23384A SVC JDM-400UF OVER CAP;SAMWHA,470uF,TPVD 2 SNA

.2 BN81-23819A SVC JDM-CONNECTOR;Optical,MORNINGSTAR MO 1 SNA

.2 BN81-23820A SVC JDM-CONNECTOR;Tuner,XUGUANG,GTTH-7A1 1 SNA

.2 BN81-23822A SVC JDM-CONNECTOR;Internet,FREPRT,26TM9H 1 SNA

1 BN81-23040A SVC JDM-REMOCON;398GR08BESSN0004SJ,TM214 1 SA

1 BN81-23043A SVC JDM-POWER CORD;389G204A15NHLGR001,2P 1 SA

1 JDM_P-C/REAR BN81-23045A SVC JDM-COVER P-REAR;705TXKCS034366,PC+A 1 SA

1 S/TOP-L BN81-23047A SVC JDM-STAND TOP(L);P34T3775XUN01XC2BY, 1 SA

1 S/TOP-R BN81-23048A SVC JDM-STAND TOP(R);P34T3776XUN01XC2BY, 1 SA

1 JDM_SCREW BN81-23049A SVC JDM-SCREW;XQ1G0940160047D4HN,Q4 16,M 4 SA

1 CABLE BN81-23055A SVC JDM-CABLE;395GS25004GT0680HF,HNS SP 1 SA

1 TERMINAL BN81-23056A SVC JDM-COVER IO;P34T3777XRJ03TC100,PC+A 1 SA

1 JDM_PANEL BN81-23619A SVC JDM PANEL;LVB430UBF0BSS42H0X,TPT430W 1 SA

.2 BN81-22141A SVC JDM-TCON;206B43001680000BOE,HV430QUB 1 SNA

.2 BN81-22145A SVC JDM-LED BAR;210BZ10D0B33LBH0AN,3030 1 SNA

.2 JDM_D/COVER BN81-23037A SVC JDM-COVER DECO;P34I9066XKAZ1X0200,AB 1 SNA

.2 JDM_SCREW BN81-23063A SVC JDM-SCREW;0M1B0000A6210000HX,M3.0,L6 1 SNA

.2 BN81-23609A SVC JDM-OCELL;203BYK430037X7N000,HV430QU 1 SNA

Copyright© 1995-2022 SAMSUNG. All rights reserved. 3


	1. UE43AU6905KXXC PA01 
	2. Electrical Parts List

